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. IfA=[_87_23]andB=[:§:z],thenA+B=
o [l o [51o[30]m [ Tw0,]
. |fA=[j'j]andB=[';j ] ,then A—B =

o [51 o [55] w0 [73] e [72] @ (7]

-2-23 41-2

.IfA=[0-43]andB=[O40],thenA+B=
20-4 31-3
211 2-11 211 211 211
Q) [-103] (i) [303] (iii) [0-23] (iv) [003] (v) [003]
51-7 51-7 51-7 61-7 51-7

0 1
. IfA=[-1]andB=[1],thenA—B=
-2 1

-1 -3 -1 -1 -1
(i) [2] (ii) [2] (iii) [2] (iv) [2] (v) [3]
0 3 3 2 3
. IfA=[j(1)_22]andB=[:§_21(2)],thenA+B=
0 [Soa] 0 [Goa ] [Soa] o [Loa] w [505]

. IfA=[1]andB= -2],thenA+B=

(i) [4] (i) [o: (i) [3] (iv) [2] (v) [5]

3-1-3
. IfA=[O-3-1 ] ,then5A =
123

15 -5 -15 17 -5 -15 15 -5 -15 15 -5 -15 15 -5 -15

(i) [ 0-15 -5 ] (ii) [ 0-15 -5 ] (iii) [ 0-14 -5 ] (iv) [-3 15 -5 ] v) [ 0-15 -6 ]
5 -10 15 510 15 5 -10 15 5 .10 15 5 .10 15



-3-2 01 -
8. IfA=[ ]andB=[ ,then5A+8B =
-4 4 -11

0 [oze] @ [aoze] 0 [aose] 0 [oeze] @ [2o2e ]

6-2 3.5 -
9, WA=[ ]andB=[  then4A—9B =
4-1 1-3 ]

10.

11.

12.

13.

14.

15.

0 [aazs ] ® [za] 00 Doz ] @ [sn] @ [5a]

-30-5 000
WA=[-UL5]and0=[000],ﬂmnA+O=
502 000

30-2 30-5 30-5 40-5 -30-7
a)[aos] m)[405] m)[oos] m)[aos] w)[405]
502 502 502 502 5002

2.1 55 80
WA=[ ],B=[ ]de=[ l

9-9 45 3.9
then6A-5B+10C=

' 117 -31 rli7 31 opl17 31 _ 117 -30 117 -33
| \"
[-45-169 [-44-169 [-41-169 [-44-169 [-44-169

5-5 32-21
Find A, given that A+5[ ] =[ ]
-1-2 -6 -6
(i 74 (i) 74 (i) 74 (iv) 74 W) 75
i ii iii iv %
Lol o [aad o [os] w[hp] @ [L)]
87 -
IfA= [ >3 then find B satisfying A+ B =0

o [L51o Gl e Gl e [T @ 53

24 -
IfA= [ 501" then find B satisfying A+B = |
(i 3-4 (i) 3-4 (i) 3-4 (i) 3-4 W) 3-4
i ii iii iv v
ol ool o [55] w551 wlhs]
4-5
IfA= [4 4 ] , then find B satisfying A+ B = A

ﬁ)[gg] (i) 88](m)[§g] (iv) gg] (v) g;]



16.

17.

18.

19.

20.

21.

22.

If(A+B) = 0, then

A is the additive inverse of B
b) B is the additive identity of A
c) B is the additive inverse of A
d) A is the additive identity of B

a

)
)
)
)
(i) {b,a} (ii) {a,c} (iii) {b,d,a} (iv) {b,c,a} (v) {d,c}

10 -86 74 -75
IfA=[ ]andB=[ ]andD=[
38 -76 77 7

AA-5B+5C=D, thenC = ?
S 8 KT o4 R i R 7

-45
If A= [ - ] and the sum of the values of

elements of matrix kA =12, find k

(i) 5 (ii)y 7 (iii) 6 (iv) 4 (v) 9

5-4
IfA=[ ],thevalueof-A=
-7-5

(i [f?] (il [::] (i) [72:] (iv) [:;] (v) [753]

-18 9-1 5-3
IfA=[ ],B=[ ]andC=[

-9-2 9-6 -30
then A+10B+8C =

 r130269  p129-269  r129-24q 129-26 128-26
(i) [ (ii) [ (i) [ (iv) [ (v) [
57 -62 57 -62 57 -62 57 -65 57 -62

1-4
Find theadditiveidentity of matrix A = [ 31 ]

D120 0] 0 [50] @ 2] @ 2]

1-32
Find the additiveidentity of matrix A = [ 0-2 4 ]
3.4-4
000 000 000 000 010

(i) [ooo] (ii) [ooo] (iii) [ooo] (iv) [0-20] (v) [ooo]
000 030 0-10 000 000



Assignment Key

1) (iv) 2) (i) 3) (v) 4) (iii) 5) (iii) 6) (iii)
7) (i) 8) (iii) 9) (iv) 10) (ii) 11) (ii) 12) (ii)
13) (iii) 14) (iii) 15) (ii) 16) (ii) 17) (i) 18) (iii)
19) (ii) 20) (ii) 21) (v) 22) (i)
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